
Senior Boys Results Grid – Premier Grade Pool  

 

Boys Premier 

Grade 

Otago Boys’ High 
School A 

Rolleston 
College 

Waitaki Boys’ 
High School 

Cashmere High 
School 

King’s High 
School 

St Andrew’s 
College  

Wakatipu High 
School 

St Kevin’s 
College 

Otago Boys’ High 
School B 

TOTAL 

Otago Boys’ High 
School A 

 15-13 11-6 13-15 9-7 10-8 16-8 15-11 19-10 1st 

 2 2 1 2 2 2 2 2 15 

Rolleston 
College 

13-15  15-8 12-10 13-7 5-14 13-9 21-16 21-4 3rd 

1  2 2 2 1 2 2 2 14  
(Avg Pts 14.1) 

Waitaki Boys’ 
High School 

6-11 8-15  8-12 12-15 7-18 10-15 7-11 13-6 9th 

1 1  1 1 1 1 1 2 9 

Cashmere High 
School 

15-13 10-12 12-8  12-8 5-14 16-5 15-9 20-10 4th  

2 1 2  2 1 2 2 2 14  
(Avg Pts 13.1) 

King’s High 
School 

7-9 7-13 15-12 8-12  12-21 12-16 6-16 11-7 8th  

1 1 2 1  1 1 1 2 10  
(Avg Pts 9.8) 

St Andrew’s 
College 

8-10 14-5 18-7 14-5 21-12  18-12 13-14 21-12 2nd 

1 2 2 2 2  2 1 2 14  
(Avg Pts 15.8) 

Wakatipu High 
School 

8-16 9-13 15-10 5-16 16-12 12-18  11-19 14-21 6th  

1 1 2 1 2 1  1 1 10  
(Avg Pts 11.2) 

St Kevin’s 
College 

11-15 16-21 11-7 9-15 16-6 14-13 19-11  12-15 5th 

1 1 2 1 2 2 2  1 12 

Otago Boys’ High 
School B 

10-19 4-21 6-13 10-20 7-11 12-21 21-14 15-12  7th 

1 1 1 1 1 1 2 2  10  
(Avg Pts 10.6) 

 

Win = 2    |    Loss = 1    |    Default = 1    |    Forfeit = 0 

 



Senior Girls Results Grid – Premier Grade 

 

Girls Premier 

Grade 

St Andrew’s 
College 

Kaiapoi High 
Schol 

Rangiora High 
School 

Cashmere High 
School 

Craighead 
Diocesan 

School 

Columba 
College 

TOTAL 

St Andrew’s 
College 

 4-5 11-6 12-3 12-2 11-5 2nd 

 1 2 2 2 2 9 

Kaiapoi High 
Schol 

5-4  11-10 11-4 15-2 9-6 1st 

2  2 2 2 2 10 

Rangiora High 
School 

6-11 10-11  3-8 12-10 9-11 5th 

1 1  1 2 1 6 

Cashmere High 
School 

3-12 4-11 8-3  13-6 5-8 4th 

1 1 2  2 1 7 

Craighead 
Diocesan 

School 

2-12 2-15 10-12 6-13  9-15 6th 

1 1 1 1  1 5 

Columba 
College 

5-11 6-9 11-9 8-5 15-9  3rd 

1 1 2 2 2  8 

 

Win = 2    |    Loss = 1    |    Default = 1    |    Forfeit = 0 
 


